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Fill in the blank. v
An equation that is true for all real values in its domain is called a(n) E J—Dé"rr\r ’
Fill in the blank. A
N
An equation that is true for only some values in its domain is called a(n) CDND\T[ON
EQN.

Fill in the blank to complete the fundamental trigonometric identity.
( <
1 B _ ( Yst«w)
cotu 'é“‘(u) sy TN dore =ten
s A

Fill in the blank to complete the fundamental trigonometric identity.

OSY _ | st )

sin u
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Fill in the blank to complete the fundamental trigonometric identity.
(eostee) 52

sin? u +

Fill in the blank to complete the fundamental trigonometric identity.

cos(% - u) =| su(u)

Fill in the blank to complete the fundamental trigonometric identity.

ol .
% O
csc(—u) = | - aseln)

\ - -
GelW= 7T T sl6)

— —esalw)

Verify the identity. (Simplify at each step.)

Z2cot? y(secly —1) =2

2c0t2y(sec2y—1)=2c0t2y( )=2

27
')anj (ud’l'\j’ D= Qw'tltj (f%”\j}f- 2 ((Q”%‘j)({ﬂ«y))

=20Y= 2
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9. + Question Details

Verify the identity. (Simplify at each step.)
Bcos?2f-8sin?f=8—-16sin?p

Bcoszﬁ—esinzﬁz(B— LlGH-(r/ )—BSinzﬁZB—iﬁsinzﬁ
=8 (l—s&«’lﬁ‘) *83#’2@ = 8- 8sdp -8:.3 @

10. + Question Details

Verify the identity. (Simplify at each step.)

2
tan” 6 = sin 8 tan &

i sec

28

= QOS = /—— - S"\-Q E—(’:——e': (;_,@‘sz,é‘
055 @ ‘!’56 s
caséx

11. + Question Details

Verify the identity. (Simplify at each step.)

cot?t _ 1 —sin®t

csc t sin
Qosl—l:
- ok oos”c 6/&5 da$2(%) (—s';.z’E
_L S(A. ((') S l:\:&'
(S‘:‘a{:

12. + Question Details

Verify the identity. (Simplify at each step.)

—_—

sin®/2 x cos x — sin™/2 x cos x = cos® xy/ sin? x

(5N} 1 - [ = (e )
- <Co;3x 3(\{?3)7)
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13.  + Question Details (1-0s8) (1+tosB) = [ 0?2 =528

2
Verify the identity. (Simplify at each step.) (&«Q— l\)(sch-P() = O :7[@—,(9

"1-cos8
E?’ (secO - )(/{-OOSQ) 3 (cecO-1)( cesO + ]) {mc@ \)(&6694(3(Cos€+(>
I AT LSy

<l—cos o) 1+osD sl ( 20 )(Sfe(@""x
(speYesor (D (o) | Zp (w0t
= N /ﬁ
(<028 )(seed+ 1) [ 5528 )seed41) e &+

WRMTE MucH -

1O T .
é’gﬁi (e, Ly ay«»».} THINK LT LE
;/cce"" )
cxsE
3 (e 0-N (s O _ %/Q:_ﬁi;ii@*@ 5’@;@7’«
o S s

(gatawﬁ—o“ d s e  cosE

B[SJCé I—COSZQ% - /‘35,?06 QC@ "@059 g('@ QC@ 54?09

|- st O &
Edewd out s« :Qc@(‘— 9_?5_

cose 6’
= @ (1 —@69)(‘3 B)
— e O - «8)
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14. + Question Details

Verify the identity. (Simplify at each step.)
ScosBcoth

: s —8=8csct
— sin
_ (Buso (22 ewrO)=9)
= :
(-5 =58

_ gggﬁ,_se}/ 5u8) -8
- cos©

gesc O (1ysr0) -8= O acad +8 -8 =8escO

15. + Question Details

Verify the identity. (Simplify at each step.)

9 cos x 9 sin x COs X
9 cos x — =

1 —tanx

Sin X — COS X

X
@’Qcosx{mx@ “QCDSX(?_/)

oY gsw X
= - __———
- ¥aw X [ - fem X j—fom X
G suwX Asc X Cos XN _ Fsa X eosx
- . =L (qu)(zf’—gx s
sk cos X —sua ) g x-S Cosx —SoX
- Cosx =S/
[ S C%K
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16. + Question Details

Verify the identity.

Stanx+9tany _ 9cotx+ 3coty
1 —tan x tan y cotxcoty —1

= Heewribesy

. Bkex s Tdey

f o) smX s cosn cosy = eny sy
Loy QOS\) cosk oS 7 COS % ¢0§7
Sw/ ( s % C,oé S
= X Qogslj tosy coéjfswﬁ“”\j
)
+ G eot X
= 3eoky +Geotx
Z_’_—ﬁ Caé X Coéj
suxsS
17. + Question Details
¢ 2 =
Verify the identity. (Simplify at each step.) THWE W [x /

[1+sin@ _1+sinéd
1, 1-sind |c05 H|

sV asod) \{ (11se.0% [1isad 1 1+sa8]
(520 \1+550) (2o ey | ecs

+su
Hs® Z O

£ | cos&(
{lf\
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19. + Question Details

Verify the identity.

5 cos(sin™! x) = /25 — 25x%

Let 8 = sin~! x = sin 6 = x = = Thus,

20. + Question Details

Verify the identity. (Simplify at each step.)

tan(sin‘L X - 2)

4

let @=sin-tX—2

= sinf ==

G
__e,ﬂ__” = £ 8 -

V16 — (x — 2)2

2
\( 1= (e

October 06, 2016
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21. + Question Details

Consider the following equation.
(1 + tan? x)(sin? x) = tan? x

(a) Use a graphing utility to graph each side of the equation.

n identity.

(O Based on the graph, the equation is an identity.

(O Based on the graph, the equation is not an identity.

(b) Use the table feature of a graphing utility. (Round each answer to three decimal places. If an answer does not exis

enter DNE.)
X Left-Hand Side Right-Hand Side

| |

j Determine whether the equation is an identity.

]
i

|
]
1]

(=]
ivl-l-:- 1
[l L]

O Based on the table, the equation is an identity.

Tl
[T S LNT Y

(O Based on the table, the equation is not an identity.

il
H

(c) Confirm the results of parts (a) and (b) algebraically.
(1 + tan? x)(sin? x) tan? x
(S,ec"'x\(g;?x)

L
sl x SAX
U B = — =\ — \= -("’"‘"ZX
= o K W \ ek
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Flotl Flokz Flotz
22. + Question Details SR +Hoos R s
inckaa
Consider the following equation. Cactned <€ H"é’ﬁ?%lﬂﬂﬂ#"il—cn
=
3+ 3cosx _ 3 sin x _ 3 dmaaﬁ@zd M=
3 sin x 3-3cosx -~ Hue podarchunt '3 :3;:
(a) Use a graphing utility to graph each side of the equation. L P e
Determine whether the equation is an identity. ﬂ_z- Ef,gi ZEf,EE
b |
(O Based on the graph, the equation is an identity. 1 1830t | L8208
i .B4z09 | a4z
(O Based on the graph, the equation is not an identity. |_% 07081 | 07031
n=-3
) Use the table feature of a graphing utility. (Round each answer to three decimal places. If an answer does not exist,

ter DNE.)

X Left-Hand Side | Right-Hand Side Looks jk,p Z\
-3 S ?/“"P I\H- l'.\h
Determine whether thg H-‘\II w

(O Based on the t

(O Based on the table, the equation is not an identity.

L

i (111
il

(c) Confirm the results of parts (a) and (b) algebraically.

hel

3+ 3cosx - 3 sin x
[ 3 s8in x 3—3cosx |
'3"'3Log)< —?C“X\ G-acews?x 7/‘ COS X) _ \2§
FeAX ’3&)% [3“)()/‘2 g‘“\a 9. s»d)()-cosg M(J CD&X}
‘L Lo M
C&V\J 30\ R ,\_4? jr’)é_—\ ] ?s% )(

= =005 ¥ 3“300$><
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Verify the identity. (Simplify at each step.)

tan® x = tan? x sec? x — tan< x

g({ o X\(Eﬂ: x\ = (\/sz ) (S“?'x"s
@M’ZX\Q«%’LK) —4a X

Use the cofunction identities to evaluate the expression without the aid of a calculator.

sin + sin2(37

Q,W.P,QD/M.QM M‘%@S
5]

h 4| ) == 5w 59 —@sa?" ~ /

jo__Lc _ 3:2330 + cos’ 530
2 =

.° n__©0
_ ecos Bt + sw 3T

A

= |

Use the cofunction identities to evaluate the expression without using a calculator.

tan? 762 4+ cot? 652 — sec? 25° — csc? 14°
)
ot 14°_ a4+ et 655 esé6E

o
co 2
_ oMo~ s 65Z | - ase?ES

- -1

10
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